
L= 50 mm

d= 48 mm n=? 143,9724 ford/min

kc= 1500 N/mm2 M=? 164,16 Nm

Pm= 3,3 kW tm=? 1,203747 min

eta= 0,75

fz= 0,38 mm/ford

2kr= 120 fok

Lra 2 mm

M= Fc1*dk= Fc1*d/2= 164160 Nmm= 164,16 Nm

Fc1= kc*A1= 6840 N

A1= fz1*ap= 4,56 mm2

fz1= fz/2= 0,19 mm/ford

ap= d/2= 24 mm

P= Pm*eta= 2,475 kW= 2475 W

omega= P/M= 15,07675439 rad/s= 904,6053 rad/min

n= omega/(2*PI)= 143,9723992 ford/min

Lossz= Lra+L+Lki= 65,85640646 mm

Lki= (d/2)/tg(kr)= 13,85640646 mm

kr= 60 fok= 1,047198 rad

vf= fz*n= 54,70951169 mm/min=

tm= Lossz/vf= 1,203746925 min


